

2/18/2020

## City of Santa Rosa Project Bid Summary

 $\begin{array}{l} \text{Project Name: } \frac{\text{R9C DECOMMISSION AND}}{\text{DEMOLITION}} \end{array}$ 

Contract No.: C00491

Client: CITY OF SANTA ROSA

Project No.: C00491

Bid Opening: 07/25/2019 2:00 PM

Owner:

City of Santa Rosa

Rank	Vendor Number	Business Name	Total Bid Amount	Percent Over Low Bid	Percent Over/Under Estimate
		Engineers Estimate	\$495,061.00		
1	TBD	RESOURCE ENVIRONMENTAL, INC.	\$373,000.00	0.00%	24.66% UNDER ESTIMATE
2	TBD	IMX, INC.	\$414,250.00	11.06%	16.32% UNDER ESTIMATE
3	V006204	TEAM GHILOTTI INC	\$446,141.77	19.61%	9.88% UNDER ESTIMATE
4	V006579	PIAZZA CONSTRUCTION	\$487,525.50	30.70%	1.52% UNDER ESTIMATE
5	TBD	BOWEN ENGINEERING AND ENVIRONMENTAL	\$525,380.00	40.85%	6.12% OVER ESTIMATE
6	TBD	SILVERADO CONTRACTORS, INC.	\$702,779.00	88.41%	41.96% OVER ESTIMATE
7	TBD	EURO STYLE MANAGEMENT	\$720,100.00	93.06%	45.46% OVER ESTIMATE

2/18/2020



City of Santa Rosa Project Bid Abstract

Project Name: R9C DECOMMISSION AND DEMOLITION

Totals for Project C00491

% of Estimate for Project C00491

Project No.: C00491

Client: CITY OF SANTA ROSA
Bid Opening: 07/25/2019 2:00 PM

City of Santa Rosa

	Project: C00491 - R9C DECOMMISSION AND DEMOLITION				Engineers Estimate		RESOURCE ENVIRON	IMX, INC.		TEAM GHILOTTI INC		
Line No. Item			Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	120100	TRAFFIC CONTROL	LS	1	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$2,959.00	\$2,959.0
2	074020	WATER POLLUTION CONTROL	LS	1	\$30,000.00	\$30,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$17,508.00	\$17,508.0
3	193115	OIL SAND REMOVAL AND DISPOSAL	CY	105	\$122.00	\$12,810.00	\$120.00	\$12,600.00	\$150.00	\$15,750.00	\$189.00	\$19,845.0
ŀ	800300	REMOVE CHAIN LINK FENCES AND GATES	LF	825	\$17.00	\$14,025.00	\$5.00	\$4,125.00	\$6.00	\$4,950.00	\$40.00	\$33,000.0
5	650012	REMOVE 18-INCH RCP	LF	78	\$42.00	\$3,276.00	\$60.00	\$4,680.00	\$100.00	\$7,800.00	\$127.00	\$9,906.0
3	150807	REMOVE 12-INCH CMP	LF	475	\$42.00	\$19,950.00	\$70.00	\$33,250.00	\$50.00	\$23,750.00	\$107.00	\$50,825.0
7	707102	REMOVE DRAINAGE STRUCTURES	EA	2	\$1,600.00	\$3,200.00	\$850.00	\$1,700.00	\$3,000.00	\$6,000.00	\$5,279.00	\$10,558.0
3	202006	REMOVE WATER STORAGE TANK	LS	1	\$220,000.00	\$220,000.00	\$14,600.00	\$14,600.00	\$80,000.00	\$80,000.00	\$87,000.00	\$87,000.0
)	152400	DESTROY WELLS/INCLINOMETERS	LS	1	\$28,000.00	\$28,000.00	\$67,500.00	\$67,500.00	\$60,000.00	\$60,000.00	\$60,318.00	\$60,318.0
0	074016	MISCELLANEOUS SITE DEMOLITION	LS	1	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$12,000.00	\$12,000.00	\$4,340.00	\$4,340.0
1	160101	CLEARING AND GRUBBING	LS	1	\$9,000.00	\$9,000.00	\$76,900.00	\$76,900.00	\$8,000.00	\$8,000.00	\$21,500.00	\$21,500.0
2	190101	ROADWAY EXCAVATION (F)	CY	500	\$95.00	\$47,500.00	\$105.00	\$52,500.00	\$100.00	\$50,000.00	\$62.00	\$31,000.0
3	203015	EROSION CONTROL	LS	1	\$22,000.00	\$22,000.00	\$19,500.00	\$19,500.00	\$50,000.00	\$50,000.00	\$16,922.00	\$16,922.0
4	074016	DEMOLITION AND SITE CLEARANCE	LS	1	\$16,500.00	\$16,500.00	\$26,250.00	\$26,250.00	\$15,000.00	\$15,000.00	\$23,910.00	\$23,910.0
5	152427	REMOVE AND SALVAGE EXISTING FIRE HYDRANT	EA	1	\$1,600.00	\$1,600.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,085.00	\$1,085.0
6	150229	ABANDON OR REMOVE WATER SYSTEM COMPONENTS	LS	1	\$33,000.00	\$33,000.00	\$28,100.00	\$28,100.00	\$50,000.00	\$50,000.00	\$52,029.00	\$52,029.0
7	719600	TRENCH BRACING AND SHORING-WATER	LS	1	\$13,200.00	\$13,200.00	\$16,295.00	\$16,295.00	\$5,000.00	\$5,000.00	\$3,436.77	\$3,436.7

\$495,061.00

\$373,000.00

-24.66%

\$414,250.00

-16.32%

\$446,141.77

-9.88%

	Project: C00491 - R9C DECOMMISSION AND DEMOLITION Engineers E			stimate	PIAZZA CONSTRUCTION BOWEN ENGINEERING AN			AND ENVIRONMENTAL	ND ENVIRONMENTAL SILVERADO CON		
Line No.	ine No. Item Units Qu		Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	120100 TRAFFIC CONTROL	LS	1	\$15,000.00	\$15,000.00	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
2	074020 WATER POLLUTION CONTROL	LS	1	\$30,000.00	\$30,000.00	\$7,500.00	\$7,500.00	\$75,000.00	\$75,000.00	\$31,000.00	\$31,000.00
3	193115 OIL SAND REMOVAL AND DISPOSAL	CY	105	\$122.00	\$12,810.00	\$110.00	\$11,550.00	\$500.00	\$52,500.00	\$175.00	\$18,375.00
4	800300 REMOVE CHAIN LINK FENCES AND GATES	LF	825	\$17.00	\$14,025.00	\$15.50	\$12,787.50	\$8.00	\$6,600.00	\$14.00	\$11,550.00
5	650012 REMOVE 18-INCH RCP	LF	` 78	\$42.00	\$3,276.00	`\$55.00	\$4,290.00	. \$35.00	\$2,730.00	` \$68.00	\$5,304.00
6	150807 REMOVE 12-INCH CMP	LF	475	\$42.00	\$19,950.00	\$105.00	\$49,875.00	\$200.00	\$95,000.00	\$70.00	\$33,250.00
7	707102 REMOVE DRAINAGE STRUCTURES	EA	2	\$1,600.00	\$3,200.00	\$640.00	\$1,280.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
8	202006 REMOVE WATER STORAGE TANK	LS	1	\$220,000.00	\$220,000.00	\$156,475.00	\$156,475.00	\$75,000.00	\$75,000.00	\$95,000.00	\$95,000.00
9	152400 DESTROY WELLS/INCLINOMETERS	LS	1	\$28,000.00	\$28,000.00	\$44,000.00	\$44,000.00	\$25,000.00	\$25,000.00	\$94,000.00	\$94,000.00
10	074016 MISCELLANEOUS SITE DEMOLITION	LS	1	\$6,000.00	\$6,000.00	\$8,025.00	\$8,025.00	\$39,550.00	\$39,550.00	\$2,000.00	\$2,000.00
11	160101 CLEARING AND GRUBBING	LS	1	\$9,000.00	\$9,000.00	\$11,550.00	\$11,550.00	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00
12	190101 ROADWAY EXCAVATION (F)	CY	500	\$95.00	\$47,500.00	\$68.25	\$34,125.00	\$60.00	\$30,000.00	\$102.00	\$51,000.00
13	203015 EROSION CONTROL	LS	1	\$22,000.00	\$22,000.00	\$27,750.00	\$27,750.00	\$25,000.00	\$25,000.00	\$80,000.00	\$80,000.00
14	074016 DEMOLITION AND SITE CLEARANCE	LS	1	\$16,500.00	\$16,500.00	\$46,357.00	\$46,357.00	\$20,000.00	\$20,000.00	\$21,700.00	\$21,700.00
15	152427 REMOVE AND SALVAGE EXISTING FIRE HYDRANT	EA	1	\$1,600.00	\$1,600.00	\$486.00	\$486.00	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00
16	150229 ABANDON OR REMOVE WATER SYSTEM COMPONENTS	LS	1	\$33,000.00	\$33,000.00	\$64,475.00	\$64,475.00	\$40,000.00	\$40,000.00	\$185,000.00	\$185,000.00
17	719600 TRENCH BRACING AND SHORING-WATER	LS	1	\$13,200.00	\$13,200.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$1,600.00	\$1,600.00
	Totals for Project C00491				\$495,061.00		\$487,525.50		\$525,380.00		\$702,779.00
	% of Estimate for Project C00491						-1.52%		6.12%		41.96%

	Project: C00491 - R9C DECOMMISSION AND DEMOLITION				Engineers Es	timate	EURO STYLE MANAGEMENT	
Line No.	ne No.   Item		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price
1	120100	TRAFFIC CONTROL	LS	1	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
2	074020	WATER POLLUTION CONTROL	LS	1	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
3	193115	OIL SAND REMOVAL AND DISPOSAL	CY	105	\$122.00	\$12,810.00	\$100.00	\$10,500.00
4	800300	REMOVE CHAIN LINK FENCES AND GATES	LF	825	\$17.00	\$14,025.00	\$20.00	\$16,500.00
5 `	650012	REMOVE 18-INCH RCP	LF	78	\$42.00	\$3,276.00	\$200.00	\$15,600.00
6	150807	REMOVE 12-INCH CMP	LF	475	\$42.00	\$19,950.00	- \$300.00	\$142,500.00
7	707102	REMOVE DRAINAGE STRUCTURES	EA	2	\$1,600.00	\$3,200.00	\$7,500.00	\$15,000.00
8	202006	REMOVE WATER STORAGE TANK	LS	1	\$220,000.00	\$220,000.00	\$80,000.00	\$80,000.00
9	152400	DESTROY WELLS/INCLINOMETERS	LS	1	\$28,000.00	\$28,000.00	\$10,000.00	\$10,000.00
10	074016	MISCELLANEOUS SITE DEMOLITION	LS	1	\$6,000.00	\$6,000.00	\$50,000.00	\$50,000.00
11	160101	CLEARING AND GRUBBING	LS	1	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00
12	190101	ROADWAY EXCAVATION (F)	CY	500	\$95.00	\$47,500.00	\$100.00	\$50,000.00
13	203015	EROSION CONTROL	LS	1	\$22,000.00	\$22,000.00	\$100,000.00	\$100,000.00
14	074016	DEMOLITION AND SITE CLEARANCE	LS	1	\$16,500.00	\$16,500.00	\$100,000.00	\$100,000.00
15	152427	REMOVE AND SALVAGE EXISTING FIRE HYDRANT	EA	1	\$1,600.00	\$1,600.00	\$10,000.00	\$10,000.00
16	150229	ABANDON OR REMOVE WATER SYSTEM COMPONENTS	LS	1	\$33,000.00	\$33,000.00	\$30,000.00	\$30,000.00
17	719600	TRENCH BRACING AND SHORING-WATER	LS	1	\$13,200.00	\$13,200.00	\$40,000.00	\$40,000.00
								•
	Totals for Project C00491					\$495,061.00		\$720,100.00
	% of Estimate for Project C00491							45.46%

I hereby certify that this is an exact reproduction of bids received.

Certified By:	License No.	
Date:		